IPTION A A

! aa Scarcity in economics means A. unaval{ablllty of goncls and services B. Ilmited wa

! limited resources and unlimited production capablhtles Iumlted resources and unlimited wants

I 35.If the price of salt decreases by 10%, and the quantlly demanded Increeses by 10%,
% .E H A

[ inelastic B. unitary elastic C. military elasticD.; elastir i

" 36. Change in the quantity demanded is the same lhlng as}(movement along a de
mand curve due to changes ln consumers
nge in. demand

owth rate/ A per caplta measure :

mand curve due'to a. change in.

, t alon a
commodity’s price 8. movement along a de Income C ‘movemen g

demand curve due to improvement in lechnologrcwl advancement D. as a cha
1 37.The GDPis: A. Measured in |1hy51cal umts B. A measure of the economlc gr

)?’ The total value of all final goods and services producul wlthm a natlon s borders In a given

able inco e'(A){‘C is N 900 when Yd ] 1_11 ooo

3&In the equanon C=50+0.9 Yd C is Consumptmn and Ycl is dlSpOS \f
1 00 when Yd |s DS 000 (E) none

(B). Cis N750 when Yd is 03, ooong Cis N1, 850 when Yd is Uz 000, (o) c

i+ of the above
39. If market demand is Qd = 80 — p and mark'et supp}y I

NS /mo &

(‘ . -?04 9p The equthbnum prlce ls"A N2 B N3 %

..40.If the price of gari decreases by 10%, and the quamuy demanded is Iess than 10%, th( deman
M”l"ﬂ‘y @inelastic D. elastic o o — P w ~P =
, ) ,qp - J:WP
gag Moge T £ {

41.Personal income is equal to l\ national lnrome rminus: taxes p|us transfers B cons.umpnon plus savmg}f

disposable income plus personal taxes D. none of the above.
42.1f the cross elasticity of two commodltles A and Bis posmve,y

it Implles that as pnce of good B decreases the :

quantity of commodity A demanded deueges B. it implie$ that" as pnce of good B- m-reases tho quantnty of :

commodity A demanded decredses/. it implies that as price of good 8 lncreases the ouantlty of x.ommodftv A
demanded increases D. it lmphes that:-as pnlce of - good B decreases th uantlty of commodlty A clemanded_-.

increases.

r 43.0Disposable.income is A. the same as real income U thr—' same as mon‘ey mcome C (alculated by subtractmgff““-"‘

government purchases fror NNP D/none of the above N
44_The total value of goods and servrces procluced by- all resndents of a country |n a yc ar is referred m : A,

Gross National Product)fcrosyoomestlc Product C. Gross National Product D Natlonal lncom‘ i

45.In the determination of ndtronatkmcomejOnIv final goods and servlces are lncluded B On1y fma! goods and_'_r

services are excluded C. Only Intermediate_goods and services  are lncluded D Only mtermedlate goods and

sefvices are not excluded : :
46. Immobility of labour causes A. Mass Unemployment/ Fulctlonal Unemployment C, Seasonal Unemployment

D. Residual Unemployment “ T . :
47 At prices below-the equilibrium thére will be p/shorlape-s B surptus C equnhbnum D. aubstitut\on o

48.Glven the demand equation ¢=24-0.2p where qis the qu’mtlty of eggs demanded and.p lS the price, the prlce

elasticity of demand when the price of ©gg falls from N70/r~ate to N50 /crate nsf 1.4 8. 2. 3°C. a. 4 D 0:2-

49. fhe branch of economics which deals with the studtes of the economl' éctlons of mdivnduals smpll groups ot
individuals and firms is referred to as.. y{ Mlcroeconomrcs b) Macroeconomics (c) lnductwe economics (d)
Fositive economics - A

50. Which of the following will not result in shift of the ClFI’I‘ldnd curve7 MPnce (b) lncome (b) Taste fashion

and tuste f

. i,_
[ N o % D N ” -

nts and abundant resources Crrlits £

lhe demand Is}( umtarv

: -er] b

A Umtary B

BUTIO adi;more Iat Le‘arnciéX‘."oom




[ aaamlty Demanded ,kg/ month
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A2 ' '_47 i3
N L __/ : -
Eq.5 % . L , . . ZV& i 4, :
.

,;‘ ‘C.e_s Og) ' - 0?«

The elasticity of demand between points € and C using. the: orlginal quanllty andorlginal prlce is:A. 2/4 5
(By/as /6.5 . Di6/65 -
-Thz elasticity of demand between pomts E and—
Q/4.5 " C.1/6.5 :

Lif total revenue temarn.. unchangPd whcn price changes

,,the demand curve Is A e|astic @unltary elastlc

3 Sl g et e 1’.
C.inclastic C.an of the above i - :
: ¥ k,\,Jm ( \ US ‘{ / 2
L A W
5. H total revmm rises when price falls, the dernand curve ls @elastlc) : B unltery elasnc W ;!
slhstic D, any of the above i ’ o :
| i 4 .
BF Iftotal revenue rises when price rises, the demand»curve As: I%elastlc
Ifelgstic 0. any of the abole :

“

37. The dernand curve fur H] commod!ly is more-elastic: G The greater the nu ber of good substltute

gilable B. The greater:the proportion of income’spent on the commadlty The Ionger the tlme perlod
insidered 1. All of the above P

3? When farm harvests are bad OThc supply: of farm products decrease

Farmers’ income usually rise 0. All of the above

40. The burden on consumers of a per unit tax collected from proclucers Is gre t :

inelastic the demand cufve C.Th
4

zmand curve 8. The more e mare Inelastlc the supply curve D None of thea

3. Persona! income is equa1 to: A, natIOnal income-minus. taxes pIu:. transfers

,d!sposablL Income plus personal taxes [) none of the above

:

: z;l'he broadest measure ofanallon outputls A NI BGNP CNNP_ D

. Pl
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nuous rise: \n lhe general pr
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He sold 220 bolt\es when t‘*e pnce
:st1c (c) complementarv Um":r,h

consumers demand less )
\costs Lo
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S€quences of unempldyment include: (a.) divestment*(b)- Instabillty”
T tion o ‘\ o\“. i Pk l :
16. The stantlard of living of a country can l:e measured‘,.‘Llfs‘i'_rff;fpe""CE'_'D" incor
index . : o : ‘ : : R

-

< by All the fnllowmg
market

18. When'income- e_lasticit.y of den‘.‘zm'd-of a'rb‘:‘h’
y‘rnormal good (b) mferlor goo

19. Basic econon'nc cleclslons as a result of Problem of »c

(b)how 10 produce (c) for whom to pro

arcﬂ:Y does not mclude (a) What to P’Od“ce"" T

. « 20.1In the_.eqt_.mtion c _-—-Sb +O;-9§n.‘1;, co

21, The dernand curve is negative
(b) lncreases (c) all of the above (d) n

22, In the equation Qd —fl p) the vanable
(d)dummy - G w S L

one O 't

he abcrve

;.:- r

23, 'lhe mcome elastnc:ty for a quury good;

(a) >1; >0 (,M>1 <‘zero%<1¢>0 (d) 1 >0

24 l'rictional unemploy
- _seasénally unemploy#d

.ln(nvi(luals firms,

govurnmcnts 'md soruptner
(el, none of the above ;

ma e ;c!i'éicé's,fdu

26. The tota! number of workers that are belng engaged by'employers :
as labou%Demand (b,)Supply (4.) scarcnty (d) equmarlum

= 2D A change in supply denotes (e) chﬁngc m the quantuy (b) a shfft In thp demand curv

ticular time jl,s\‘r_efe'tjred tou N

the price~@fa shift m the supply CUI’VL

- 28. Prolit is'a major fealure of)pﬁ marl\et economv (u) a sociahst e:
{d) an authoritarlan cconomy : St

S L
F - AT R s

29 The consumer must possess 2 coupon ln addlllon to ha

30. Wl:cn the quantity clemandcd equa!s quantlty suppl ed there
i ; transl‘ormanon {d) ma rgmahzaﬂon ; Al (,7

J
e



uct Isan example of: A the

prod y market.

5s. natlonal
ead in gro Bie: counﬂng on|

45.Including the value of flour the baker uses to rnakt1 br
. ! ) lculating GN

expenditure approach to‘calculating GNP - D. double counting'lh ca

transactions In NNP D.recording’a nonproductlve transaclmn St h Id -
’ a! house o
avun B tot
46. Consumphon is equal to : A. natlonal lncome Iess taxes plu 3 transfers mlnus s g s, dlsposab[e
C.personallncomé rnlnus sav

expenditures on durable and nondurable goods and services

income minus taxes. .
me:

o Ity to consu
wsumption’s flsas from 180 to 186, the marglnal pronen‘s‘r Y
DfaIIs f'rornOJtuOBtJS ’ %
present A. lnvestment and Co ‘
d expendlture SR

A7.0F Incéme rlses from 200 to 220 while col

A.is 0.9 EB.ls approximately 0.845 C.l1s 0.3, ¥
nsu'mption

i

48. In the-nallonal Income equatlon, Y =C+ f + G X -M, C. .lnd I're

B. Consu.npnon and lnvestment C.Cxportand Import D. Lonsumptlon an : S
49.Which of the following is nat a deterfmnant ofmcome? A Price Ievel B. In’térest Réte C. Cre'dnt.ava!lablnty 0. O
None of thé above ‘ : ' ><
50. Given that the disposable income mcreased frovn N85,000 to NS0,000 and the level of mnsumptld_nvlncreased (U
from NB84,000 to 85,000, the marginal propenslty to consume Is:A. 0.8 B0.2 C:0:4D. 0.6 - 122" ‘ 7 B
51.Government can increase or decrease consumptlon Ina edilatry through A Physlcal and monetary pollczes B.-" =
Advertisernent and announcement -Co Fiscal; and:monetary. pollrles D. None of the above: ' L('B
52. Consumption can increase witl: A. Incredse in populrmor. ﬁ}, Decrease in populatlon C. lncrease in etectoral O
votes D. Decrease in dispasable income. : ol ot ' sl
53. When there is a marked perlod of gentle but contlnuous '!se in the general pnce level we have(g;«?cr_eep'.r_‘.g (2 -
lnHauon L. Hipher Inflatior: C. pu ‘e inflation 'D. shock mfhhon i j CU
5
54. The type of inllatlon obtained when all prnces !nclude, wages ana.othersources of lncome rise at'equal; rate:: e
as:A. creeplng inflation B. Gailoping InflatloC/L‘ Pure irflation D. shock Inflation . : ; ; g
55. An annual rise of 5% in the general price (eyel wlill result In: .L\ifiype'r inﬂatlon 'chronic inflation C.'pure
inflatlon 0. shock inflatlon ' s ‘ %
. ) R . O
56. Excesslve growth in the demand for goods and services can cause: A. cost-push-inflation B. demand push. . . =—=
inflatlon QC.‘gfemand pull inNation D. cost pullinflation. - , L ' e %

e
"! <J - g s
57.Rapld increase In the cost of production’ ofgoods andservices'can cause : @cost push lnflatlon B. cost pul

inflatlon demand pullinflation D. de,rnand push’inflation”

“D.war
i

£

58, Which of the followlng is a cause of inflaﬁt“lon: A, expenditure * B.Income: C. wharf
. o0 5 i %

. , & c i . s " % Aty ‘ - TR i
59. Luring inflatlon & borrowers gain B. Dorrowers lose C.lenders galn @Ienderjs;’l_ose'

60. Which of the following Is not a method of Inﬂanon ‘control:-A. 1ncrease In produg:,tion oi goods and servlces
B o . . . X ’.1 ; .
-total ban on the importation of certaln Items - C. Price cantrol - @ Electoral Contro!
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§ 3 I.1 lhc nal 0'1211 Inco.m. cq u.mon Y =C+.1+ f‘f + )\ M" e and rGDJ;PS m.
3 \.,eusumpuon@Consumplmn and lnvc:mnnnt\, Export and zmpoI De

e

Zatd
‘ Ccnmmghon and pendi

"C‘l

4. Which of tlye followm'v is not a d»tcnu...ui.t of inco
ava:labihly D Nonc of lhc dbOVC

-a

X

0

5 Given that th dlsposablc mcomc ‘ncrcaccd from N85 OOU o ‘490 00" ang anweve! OI const m{ E
: mc_icased:fr_oxr 34, OOO to M85 OOG the marginaj proy " C
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51. Limited n_:.ources 1+ Unlimited. wants __!_;.g;r;.{__ <A pdos_s:blht.l:es_ B. dem RN }j St
scarcity E. none of the above. . ke L "._l e L R o PN

resndm in the Nh
00ds and services produced by thP nal;onuls of the counrry whether current!Y g

m Net Natfonaf lncome '
country or living abroad is referr ed to as (a) Gross Dnmeslfc' Pr-)duct (b) Natlonal Income (c] - 7
¥ Gross Mational Prodyct |

52. The value of g

e : - prasga s achinery is == |
/3 unemp!oyment as a result of terhnologlcaf improvemenf l‘eading ro rep!acement of abOU" b‘/ m yis

truct [t
caHed (a) Frictional unemployment (b) Seasonal unemplnwnent (c) Res!dual unemployment (y)' Stru nra
unemployment . ; o : : o

54. Which of the following is true" (a)

fixed below equilibrium (yfpnre floor
protecting consuiner

Prrce C( IHng is usm;l.'/ flxed above equlllbrlum pnce (b) Prlce floor Is. usually;
Is usually almed at protecting consumer m prlce ce'i”ng is USUB“V aimed ater

55. Given that Qu=20-4P and Q =(GP+12, delermlne Hm

56. If consumption C is expressed as a function of dispo:

$A Yy is the independent vnr:ab!e (b)(‘ if Is the
random variable,

equlhbrfum quanthy? \a)14 2 )1(: 8 C)ZO 8 (CU3O 2 s
sable income Y4 written as C~ flya); it can be Inferred that'.j
lndencndent varjable (c) fns the lndepenrlent varlabfe (d) Cls the e o

e

57. A cormmodity whose demand varies mve:sefy with LUHSUIHQFS lncome can be descrrbed as ( )

superior-good -, -
(b) normalguod ()m:eno: good (d)wmplementary good : '

58. The following mustbe speuned when' usrnp tahles j

N economics except (a) ””e‘:l_w)
(C)SOUfCe of data (d) tabfe number s L R

l'n‘teép"’etaf!;oh Ofthetab|e R §

Bovuloddthora At T aatmelbar Com . e e

59. If the federal government of ngena comes up

rather than consumer-.goods, it can be sa:d that the government is solvlng the pr ble
)f) how to produce (c)what to r} iice (d}where to prodm

60 In the national income equano'

=C114+G l—)( M, and l erresent A lnvestmer
B. Consumptioss and Investment *

itand Consumption
Export and. Import @, Consumptlon and expendl : L

ture

; R e e o N s
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9. Labour wa[,eu can be detcrmmul h-n}f( hOLn‘ of wmk (b) cost of Lrammg (c) Job Dernand (d)
populatlon o : 5 kg : : _ :

(a) ensure that non marl\el,-nansactuons are Im.luded
: mtermedwte goods (d) appreclate |ntermtd|ale good {

11.The total value of goods and ser\nces produced h,/ all resldents ofa’ ountrv In a'year ‘
as (a ) personal mcomeMGross DomPstu: ProduLt (c) Gross Natlonal Produc_

e rL|"|

lationa Income (d)Personal Income> i

({y)the m rket vbluc_ of’all f|nal olitplit producetl’durlng,a yeap- %0 !.-b.

of money received as waste_s and salarle AT /1he total:: curre )t anndal expt-ndltures forthe natlons,
output (d) all ofthe above i

'|,-

13. GNP measurer

ot 2 Tome b
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llowlng " rays except: A. Supply curve

i fl-:])fl'"r_’ﬂlﬂd in the fo I
hedare Varlables @Productlon nosslblllty frontler

ve lyw of supply €A
¢ coe nlell" and the. quanut\r supp

ation in which price of th

follow!ng daes not cause-a- shlﬂ in

‘hich of the
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